Lattice Multiplication (C)

86 X

810

30 x

594

53 X

818

Use lattice multiplication to find each product.

4 3 3 9 5 3
6 6 5
3 1 7
7 2 4
43 x 637 = 39 x 612 = 53 x 574 =
9 4 g 1 .,
1 9 3
6 1 3
1 1 9
94 x 161 = 81 x 911 = 79 % 339 —
8 2 1 6 8 5
5 1 8
9 5 6
2 4 1
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Lattice Multiplication (C) Answers

Use lattice multiplication to find each product.

4 3 39 5 3
2 1 6 ZE 6 2 1 5
20, 4, 8 20,/ 8 4 3,51 5
1 10 3 0 10 | 3 12 7
121 9 3,3 9 o, 5/ 1
2 2 7 0 1 ) 2 4
3, 8l 1 8/ 6|/ 8 a0l 2
9 1 6 8 2 2
43 x 637 = 39 x 612 = 53 x 574 =
27,391 23,868 30,422
09 04 78 01 2 2
1 9 4 ! 7 2 9 9 00 60 . 3
5 /12 6 0 10 1 1
5|, 4, 4 38 1 s 3
0 10 | 0 10 | ] 1 )
11,9/ 4 718, 1 A 9
3 4 9 1 —

94 x 161 = 81 x 911 = _
15’134 737791 22X339—7458
8§ 2 L6 8 5
4 1 6 4
409" 00 10 o ! 1/ 4/ "

A AR SV4E 413 e
8 2 8 ) 5 0 5 3 8 0
L0 2 0 2 010 11
5 6 4 4 4 4 4 1 ] 5
4 4 C ) 8 5
82 x 592 = . 85 x 861 =
48,544 16 X 154 = 2,464 73,185
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